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1. Write down these multiples of 5

2. Here are some pictures of multiples and a multiplication square.

(i) Write down the multiples below the pictures

(ii) Find and colour in the multiples in

one row of the multiplication square.

(iii) These numbers are all multiples of ......

(iv) The next multiple is
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3. (i) The multiples in the table below are multiples of ....

1st multiple

2nd multiple

3rd multiple | 4th multiple | 5th multiple | 6th multiple

10

15

20 25

(ii) Write these multiples in the correct places in the multiplication table below.
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(iii) Write down the 6th multiple in the table above

(iv) The 8th multiple is ....
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4. You may use the multiplication table to help you answer this question.
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(i) complete all the factor pairs of 20

1 x20=20
X .= 20
WX .= 20

(ii) complete the factor bug of 20

5. You may use the multiplication table to help you answer this question.
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6. Write down a factor pair of 10

(i) complete all the factor pairs of 24

WX =24
WX =24
WX =24
WX =24

(ii) complete the factor bug of 24

Q@O To see licence visit http://creativecommons.org/licenses/by-nc-nd/4.0/. SRS Learning Limited



sample questions multiple and factor has 10 layers timelypractice.com

7. Jarvis uses an “easy first” strategy to draw his prime factor trees.
Kai uses a “smallest prime first” strategy to draw his prime factor trees.

Both boys have drawn incomplete prime factor trees.

500 500

Jarvis’s prime factor tree Kai’s prime factor tree

Complete either Jarvis’s or Kai’s prime factor tree.

3P a5

8. (a) Complete this prime factor tree.

140

(b) Complete this prime factor tree.
26
9. Here is a prime factor tree.

(i) Circle the leaves (prime factors)
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(ii) Write 16 as a product of its prime factors
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10. (i) Complete this prime factor tree.

(ii) Write 162 as a product of its prime factors.
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